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1. ‘TEgeEe w/@___ 9T |
(1) wHgEwe o (2) UCARE ST
(3) &TEdt M o (4) o THAE! e
A hydrophyte is
(1) A marine animal (2) An aquatic plant
(3) A plant disease (4) A rootless plant

2. g4 SIfywR wEET T AT Te ?

(1) 2010 (2) 2011 (3) 2006 (4) 2004
When was the Forest Rights act inacted ?
(1) 2010 (2) 2011 (3) 2006 (4) 2004

3. EPROM 1 14 & 2l ?
(1) Electric Programmable Read Only Memory
(2) Erasable Programmable Read Only Memory
(3) Evaluable Philotic Random Optic Memory
(4) Every Person Requires One Mind.
What does EPROM stand for ?
(1)  Electric Programmable Read Only Memory
(2) Erasable Programmable Read Only Memory
(3) Evaluable Philotic Random Optic Memory
(4) Every Person Requires One Mind.

4, EAIAIHT BT TS (waves) YR (polarization) B ATES ?

Q) Ysen @l @) &-fao

(@) TNE fwt (4) T A Rl
Which of the following can not be polarized ?

(1) Radio waves (2) X-rays

(3) Infrared radiations (4) Sound waves in air

HoeAT HIATHIE! R / SPACE FOR ROUGH WORK
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HRTHGT Weded TrRde faeaehrer __ fa¥gs o wvmm,
(1) @it 2) w&R

(3) EAIgEE! 4) o

A Lokpal bill proposed by the minister is called a bill.
(1) private (2) government

(3) amendment (4) money

‘ OeTE Y AT Uehdd IeA STEet wifest’. ¥ ST FUit Free ?

(1) @ d3R. st (2) WRRH B

(3) AT A HERS (4) wefd faga for
Who ordered a school in every village in the state ?

(1) Dr. B.R. Ambedkar (2) Mahatma Phule

(3) Chhatrapati Shahu Maharaj (4) Maharshi Vitthal Shinde

GIEATIhT HIVET G fagrt srer 31med ?

(A) TFiCEE T SINETISTEvIHIS ATTeTaTd <18 9Tl A A6
(B) HAYA Th(- AT H&T0 L.

(C) YA SaHIAT <ATATTAA TEIT 3T,

(D) WWFiEEE aeaial SNAIAEUIHIE! =—IATear S8 AN 3.

1 A, © (2) (A), (B G ®, D) 4 (©, D)
Which two of the following statements are correct ?

(A) Courts cannot be approached for implementation of the directive principles.
(B) Fundamental rights have no judicial protection.

(C) Fundamental rights have judicial protection.

(D) The courts can be approached for implementation of the directive principles.

1 &, © 2) A, ®B) 3) B, D) 4 (©.,D)
WIE e IO GGaTHE) G0 919 o A UehrE! giigdr 9eed aq ?

(1) e FE (2) SR wE

(3) R % @) 0w e Tat

Which of the following mechanisms has in-built chip and memory to store consumer
data ?

(1) Credit card (2) Debit card
(3) Smart card : (4) All the above

ol RISl ST / SPACE FOR ROUGH WORK




LRM 5 A
9. ‘o Afgen g =it T .

(1) TERNEH F (2) SRl "

() W EE (4) o T

‘Arya Mahila Samaj’ was branch of B

(1) Satyashodhak Samaj (2) Brahmo Samaj

(3) Prarthana Samaj (4) Arya Samaj

10. W] IO AT ISR Sefaq e ?

(1) NREP (2) RLEGP (3) IRDP . (4) ICDS
Which of the following schemes is not related to Employment Generation ?
(1) NREP (2) RLEGP (3) IRDP (4) ICDS

11. ‘' fored’’ a1 ST vaR TT9AT Shegl S ?

(1) 18 A, 1966 (2) 19 S, 1966
(3) 20, 1966 (4) 2194, 1966
When was the political party “Shivsena” established ?

(1) 18" June, 1966 (2) 19t June, 1966
(3) 20th June, 1966 (4) 215 June, 1966

12. fedsR 2011 78 IRA=A qd fRARTEER S0 Tehiageen S e ?

(1) ofm ) fwam (3) forstett (4) den
Which tornado rampaged the Indian eastern coastline in December 2011 ?
(1) Theme (2) Fiyan (3) Bijali (4) Laila

13. F3TF dAIEAT HEd FUiE! el TS Weell Gioren foha Wi Aifecd Wredeie TReyHI0
EICIINET IS

(1) U sl (2) IS HIEFRT
(3) EIwR ST (4) FIRL FHFGET

Which technology allows any person or organization to use computers or computing
resources as per need on a rental basis ?

(1) Green Computing (2) Cloud Computing
(3) Soft Computing (4) Cluster Computing

ol SHTHTHIS! SR / SPACE FOR ROUGH WORK
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14, 9AE ‘ TRIFED ’ SIvAl Hiel GE St ?
(1) 1986 (2) 1987 (3) 1988 (4) 1989
When was “TRIFED’ set up in India ?
(I) 1986 (2) 1987 (3) 1988 (4) 1989
15. WEieTdeh! o e TR ?
1) SglHeqy gy (2) SHfeTglar ca%
(3) AYH 3l (4) Al sgtsia
Which among the following is a bamboo ?
(1) Dendrocalamus strictus (2) Albizia lebbeck
(3) Madhuca indica (4) Melia azadirach
16. G IRAA FIIH IR T shegl el ?
(1) 1951 (2) 1952 (3) 1954 (4) 1955
When was the All India Newspaper Conference (Council) established ?
(1) 1951 (2) 1952 (3) 1954 (4) 1955
17. HERISTA] ' $ER NI’ 3G Y@ Sive] STeIR4gd fasket! STrard ?
(1) <mfas (2) < (3) @) fawrie
Where is most of the production of the cottage industry of Maharashtra sold ?
(1) International (2) National (3) Local (4) Regional
18. fHeTTHImlerel HIGETS] T9H vl el ?

(1) oF dsie suftr A foaw

(2) W& TrEe A L. et

(3) HEH SGRE Hel

(@) T TERE HEASH

Who founded the Theosophical Society ?
(1) Annje Besant and Lokmanya Tilak
(2) G.XK. Gokhale and N.C. Kelkar

(3) Mahatma Jyotirao Phule
(4) Dr. Babasaheb Ambedkar

oAl WIUTETS! ST / SPACE FOR ROUGH WORK
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19.  TIfmm et T Teft (1/2) el o aRgE wiast e fedl g ?

1) 1/2 % (2) 1/4 % (3) 2w (4) 1/8 9

If velocity of a moving body is halved. What will its Kinetic energy be ?

(1) 1/2 times (2) 1/4 times (3) 2 times (4) 1/8 times

20. WTATCTISH! I Harsr T ATl ?

(1) = (2) i (3) @ (4) TR
Which of the following in not a vector quantity ?
(1) Force (2) Energy (3) Velocity (4)  Acceleration

21. T WM AAREERE! UF A Sma-Qan foskfad et 3R, dira @reard e o
Hifed! T Ier Wel (SR ehT=aiaT 3-Het gR FHodad| A, HARY Wiear & Hifed! w@d: =4 §-
e R s wed gd fegifusraren - A T faga The - degi wefae o1,
e e e ?
(1) =AH FEHA HA (2) TARE HTeA BT
(3) =A<k FHTeA HIAt (4) diee FET HAt
Health department has designed an innovative health service for citizens. The department
wants to communicate the details regarding this scheme to all district collectors of the

state via e-mail. A single self addressed e-mail was sent by the department with e-mail-
ids of all district collectors through the “bec” field. What does the word “bec” stand for ?

(1) Black carbon copy (2) Blind carbon copy
(3) Blank carbon copy (4) Bold carbon copy

22, TR TSI TSUJET IO 37T 2

(1) = (2) €M (3) d@% (4) Toue
is the state tree of Maharashtra.
(1) Mango (2) Teak (3) Banyan (4) Peepal

23, T WERTE URORR’ STe7et v B 2

(1) 4. T wE 2) 4. FNETE TRV

(3) ot RS TEE (4) ot YwwE A

Who was the President of ‘Samyukta Maharashtra Parishad’ ?

(1) Shri. Vinoba Bhave (2) Shri. Yeshvantrao Chavan
(3) Shri. Morarji Desai (4) Shri. Shankarrao Deo.

oAl HITETS! ST / SPACE FOR ROUGH WORK
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24, HERISEE SfGA TTHHEH, Y&A: HI3 Hid 378 ?

(1) wemE &9 (2) Team A

(3) @I & @) (1) enfe (2

Where is the tribal population in Maharashtra mainly concentrated ?
(1) Sahyadri region (2) Gondwana region

(3) Satpuda region (4) (1) and ()

25. Wiqed Fel wo & 2
(1) &R Frafaaed s waes g9 &d T,
(2) R yfasrde fafire arE waErE g6t 3.
(3) wraEn aigeear seEd e T56.
(4) TANTR TESIY HIA A TS
What are the Redeemable debts ?
(1) Government does not guarantee payment of regular interest.

(2) Government promises to pay off at some future date

)
(3)  Their maturity period is not fixed.
)

(4) Society is burdened with perpetual debt. .

26. i ST el Sufiforsht wemaR wHard ?
(1) o, ", =51l
(2) SIS M HEA, TN, A ATEE HEA
@) R, e, wed
(4) T, wRERY, TTETS e H
What is livelihood of a Katkari tribe ?
(1) Hunting, fishing, theft
)  Collection of forest produce, theft, plantation of trees
(3) Fishing, hunting, wages
)

Hunting, fishing, collection of forest produce

HoT HIHE SR / SPACE FOR ROUGH WORK
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27.

TRRTe T SHfErE’ H 2
(1) ek e, FEawRd A Hew
) fuew, ®Rg sfor w
(3) HUTH, TRIRE Hi (U HRF
(4) S9N, HRg 0T AREA
Which are the primitive tribes of Maharashtra ?
(1) Madia Gond, Katkari and Kolam
2)  Bhill, Korku and Koli

(
(3) Santhal, Mahadeo Koli and Korku
(4) Banjara, Korku and Warli

28. HENIGT=A HIHe T4 | e Je MR/ SR,
(1) 6-1 2y 5-2 G 7-1 4) 6-2
Maharashtra state is bordered by _statesand _____ __ union territory/
territories.
1 6-1 (2 5-2 3 7-1 4) 6-2

29. 2004 - 05 <A1 eI HgeereAl AHSaRITHR HIveal [ TR TH10 Haid S 371 ?

1) wwEe Q) wdoETs (3) FER (4) sifn

In which state the proportion of poverty is highest according to the data of Planning
Commission 2004 - 2005 ?

(1) Jharkhand (2) Chattisgarh ~ (3) Bihar (4) Orissa

30.

R (st sf~e el oIfh QIeRM) SIfafTam-1981 A&l HeARTS GOl SIval s Hal
R

(1) 1987 (2) 1988 (3) 2000 (4) 2005
In which year was the Air (Prevention and Control of Pollution) Act-1981 amended ?
(1) 1987 (2) 1988 (3) 2000 (4) 2005

FHEeT FHTTES 9P / SPACE FOR ROUGH WORK |
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31. WE! AEHE ST HI07 B 2

(1) fowE™e 9§ (2) fad). ferarent
(3) & wEiaR (4) St I
Who was the pioneer of Marathi drama ?

(1) Vishnudas Bhave (2) B.P. Kirloskar
(3) K.P. Khadilkar (4) G.B. Deval

32. STYR HIS HIMWS! AT JUR ATE ?
1) % @R IuSvIER!
(2) A e YA Hal ANNSHT ST FEA QUATHIS!
(3) UH MURHEHREM FN T TGN @ JuATEet |
(4) VIHENAT GEAT ST AHOR) GRS, Fremes anfe wmeus WEaed e

For what purpose Adhar card will not be useful ?

(1) To open a bank account

(2) To provide landline or mobile phone service

(3) One existing Adhar card owner to introduce some poor citizen

(4) Government to scrap existing documents such as passports, and ration cards

33, STERIER 1998 TEY TVA AGied UL &N TRuS™ TH@ HIvT 3R ?

(1) dagu™ 2) T FEOE

(3) N EHA (4) HETT Q&I SR

Who heads the National Security Council formed in October 1998 ?

(1) The Prime Minister (2) The Union Defence Minister

(3) The Union Home Minister (4) The Central Vigilance Commissioner
34. gUEA w0 gEvi % favga 9 TR 91 TETIER 9Tl

(1) g (2) it (3) Tt (4) wwRElE

Telephone ear piece works on the principle of effect of electric current.

(1) magnetic (2) heating (3) chemical (4) optical

35. € YRamHid Fald | ATfeardt AW ST,

1) T (2) U (3) AcHTt (4) M
The smallest tribal community in India is :
(1) Bhill (2) Santhal (3) Andamanese (4) Naga

oAl HIUTHIS! | / SPACE FOR ROUGH WORK
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36.

‘Arrate’  STIEE | A1 HITEl &N AT FWFIRAT SV FHATEN 2011 9L YA et ?
1)y st eg () W= Sies
(3) SFE e (4) IACH BRI

Name the person known for ‘Ipod’, ‘Iphone’ and other computer applications who died
in 2011 ? '

(1) Bill Gates (2) Steave Jobes
(3) Danian Shitzman (4) Julies Halfman

37. WU IY IS AR ARG QIS o8 WU SNBEA W ?
(1) 2010 (2) 2007 (3) 2011 (4) 2005
Which year is regarded as the Democratic Agitation Year of the Arabic Countries ?
(1) 2010 (2) 2007 (3) 2011 (4) 2005
38. iegeh g Rty won=n frammecien S19 BomT ?
1) g () v TeREe
() HRmE (4) Sy
The set of rules that govern the way the network operates is known as :
‘ (1) Internet (2) Service provider
(3) Protocol (4) Operations
39. WS HSSUFF 2011 - 12, =1 WM [ TR 99 € (Revenue Deficit) fhdt a1 ?

(1) T 5688 HI&A (2) T 7899 wid

(3) T 9860.2 HI (4) T 5788 ®IA

What is the Revenue Deficit as per Maharashtra Budget 2011 - 12 Part I ?
(1) X 5688 Crore (2) T 7899 Crore

(3) T 9860.2 Crore (4) ¥ 5788 Crore

HEAT HTUTHS! AT / SPACE FOR ROUGH WORK
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40. YRAMeN enfeardieal fasmmrd & sdr shiow! ?
(1) SHEE (2) e
(3) ST TR , (4) SRITER 9T
What is primarily hindering the Tribal Development in India ?
(1) Population (2) Illiteracy
(3) Deforestation (4) Climate change
41, A UM FAATTER HEIHT TS SEARE I Tfavamet 9 wiad ?
(1) 337 (2) 338 3y 339 (4) 215
Under which article of the Constitution, can the Union Government direct the state to
implement a Tribal Welfare Scheme ?
(1) 337 (2) 338 3y 339 (4) 215
42, §7 2012 7&A QU ' 31ef |’ (Earth Summit) & o 39 fafire fosmier Som og ?
(1) SFEen A fa o
(2) e frem deyia gla eredeaaeen onft R fasmmens! deums =
(3) gomH e amfor FRa faehme
(4) IR arqEA A FREER foasm
What are the two speci"fic‘ themes of the Earth Summit 2012 ?
(1) Population and sustainable development
(2) Green economy in the context of poverty eradication and institutional frame work
for sustainable development
(3) Climate change and sustainable development
(4) Global warming and sustainable development
43, '3m 6y’ ol ‘fasiga’ o I SdwmOAlE gEara vl el ?

(1)  FOETS FHIF TS (2) R form

(3) TAHER M@ (4) Tower s
Who started the daily news papers ‘Dnyan sindhu’ and 'Mitrodaya’ ? ;\’
(1) Krishnaji Trimbak Ranade (2) Kakasaheb Limaye \
(3) Namdar Gokhale (4) Vireshwar Chatre E

FHoAT HWETS WM / SPACE FOR ROUGH WORK
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44, SIS FIMGR TAlhe HIATT 7
1) Ifeda w@ie fafsn
2)  gfrenf e st
3)  Afrede W A
4) gFTERi e foed

With what is web page located ?

(
(
(
(

(1) Universal Record Linking
(2) Uniform Resource Locator
(38) Universal Record Locator
(4) Uniformly Reachable Links

45, ‘'fegrom dwfae fofsrs srtfaues’’ & gee wivlt worge Fet ?

(1) e e (2) SRR T

@) wfdeTy g™ (4) FeITEE T

Who established Association of Hindustan Socialist Republicans ?
(1) Lala Hardayal (2) Chandrashekar Azad
(3) Jatindranath Das (4) Kanhiayalal Datta

46. IV G FRIRHAMHAHAE JIHEAM TR S ?

1) P (2) WmEE
(3) Fw @
Which species is mostly used for paper industry ?
(1) Eucalyptus (Nilgiri) (2) Teak
(3) Devdar (4) Sal

47. fed SEROT IR Sewt ST e 7

(1) 1994 (2) 1884 (3) 1984 (4) 1894
When was the first forest policy enacted ? ‘
(1) 1994 (2) 1884 (3) 1984 (4) 1894

THeedT SHINTETEl W / SPACE FOR ROUGH WORK
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48. Wreteri®! SR e HRAY TSR GRomE A ?
(1) ofds a9 fawm 2) AR fAfi
(3) =few gfg (4) T IHTSAERR el HeTy
Which of the following is not an objective of the Indian fiscal policy ?
(1) Economic growth and Development
(2) Employment Generation

(3) Poverty Acceleration
(4) Control of Population growth

49, ‘YA 99 93YT ST RIS e ?

(1) g 2 (3) e (4) et feee
Where is the Indian Forest Research Institute located ?
(1) Nagpur (2) Pune (3) Deharadun (4) New Delhi

50. ‘w1’ onfears) S YRAe $oel TSI HIGHd 2

(1) Tea (2) wAleH 3) omEm (4) TRAE
‘Meena’ tribe is found in which state of India ?
(1) Gujrat (2) Karnataka (3) Assam (4) Rajasthan

51, WISt o U forai i I e fasvmiaEt darfuer Juarst
YU TS STegeRt A el
(1) 2012 (2) 2013 (3) 2014 (4) 2015

Saudi Arabia’s King Abdullah declared that Saudi women will have the right to vote in
the local elections from

(1) 2012 (2) 2013 (3) 2014 4) 2015

52. U9 Hifaw 3w sfearem srsaadt 2011 T8l e fas svan el ?

(1) Thed Fey (2) TES. g

(3) TE W (4) T 2WE

Who is appointed in 2011 as the Chairman at Press Council of India ?
(1) Markandeya Katjoo (2) SJ. Mukhopaddhyaya
(3) J.S. Khair (4) Ranjana Desai

T HTATATS! ST / SPACE FOR ROUGH WORK
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53. UL STHfEa st o1 faehre WY (. TE. A TR ELE) Sl v e ?
(1) 2005 (2) 2001 (3) 1984 (4) 1965
When was the National Scheduled Tribes Financial Development Corporation (NSTFDC)
established ?
(1) 2005 (2) 2001 (3) 1984 (4) 1965
54. e frew sreigees| F13 IR ?
(1) TR (2) T (3) TR 4 ™
Where is the National Film Archives located ?
(1) Nagpur (2) Mumbai (3) Kolhapur (4) Pune
55. 31l T¥ M HISH AYS F3a A A GIHIH S FlRais YoheqHed EIal Hdd oo fdieat
GRS e T51 Tev HLd ?
(1) Fcfyd d= (2) WA TR
(3) TeEE W (4) A dAlw T A
What is the layer in the OSI model responsible for breaking a file into packets
at source computer to be transported to receiver computer where they will be
reassembled ?
(1) Applicaﬁon Layer (2) Session Layer
(3) Network Layer (4) Data Link Layer
56. FHUA GHAINE AR SISO ST 6.1% (1993 - 94) T&F 2004 - 2005 TeA fefell 3T ?
(1) 6.7% 2) 7.2% 3) 9% (4) 8.3%
As per Eleventh Five Year plan, the rate of unemployment has increased from 6.1% in
1993 - 1994 to in 2004 - 2005.
(1) 6.7% (2) 7.2% 3) 9% (4) 8.3%
57. Wifgdl TSl 14 2
1) =& 2) WEHEg @
(3) HMIACE 39 (4) EUE YL
What is an information ?
(1) Data (2) Processed Data
(3) Manipulated Input (4) Computer output

el HINTATS WO / SPACE FOR ROUGH WORK
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58. FTfaes anfeard! fead sheat Aol svam 3 ?
1) 9 &R 2) 13 Hgard (3) 1T (4) 7 W=
World Tribal Day is celebrated on :
(1)  9th August (2) 13t February (3) 1%t April (4) 7t March
59. gahiciie & il 9o kvl i ?
(1) oH= gHd (2) s (3) sftsnq (4) ey
Who coined the term ‘ecology’ ?
(1) Ernst Haekel (2) Elton (3) Odum (4) Krebs
60. STRET A HURT Hefid TR ?
(1)  SITfaehteR (2) wESH® gl
(3) @reTiE (4) Tew =AMR
What is Wagner’s Law relating to ?
(1) Globalization (2) Public Expenditure
(3) Privatization (4) Foreign Trade
61. WA FERE 25 Ten= A0 dhegt 9 HLUAR S 2
(1) 19 2011 (2) 1% 2010
(3) 1 ST 2011 (4) 1 AR 2012
When was the 25 paise coin taken out of circulation from the Indian Market ?
(1) 15t July 2011 (2) 1%t May 2010
(3) 1%t August 2011 (4) 1%t January 2012
62. YRANIE g€ T Yoo e g fewd, wig o= aqg faEe
srfereeieTete few.
1) %@ (2) ey (3) ofmm  (4) wAlew

Soil erosion in India occurs in almost all the states, but it is most serious along the coast of

(1) Kerala (2) Tamil Nadu (3) Orissa (4) Karnataka

oA RINTETE WM / SPACE FOR ROUGH WORK
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63. WA 315 YN HIEiaia INEaRNE SRl 9geivad JUIR STHeI fedt eah akian an ardta
TS §ie YAl ?
1) 50% (2) 35% (3) 70% (4) 40%

What percentage of people would come under the poverty line if its definition is changed
according to the proposed Anna Suraksha (Food Preservation) Act ?

(1) 50% (2) 35% (3) 70% (4) 40%
64. WU ATHANE §FR T e,

(1) Tafifs afdsr 2) T R

(3) HEYd AfHHR (4) HERER AfUHR

At present right to property is a .

(1) Natural Right (2) Human Right

(3) Fundamental Right (4) Legal Right

65. TESITATH (SGML) TErsl H1a ?
1) Ted FAERSS ARhsTY TTas
(2) e T AHITT TIAw
(@) et mire dfun FEw
@) Ve s Ak fH®
What does SGML stand for ?
(1) Standard Generalized Markup Language
(2)
(3) Standard Graphics Mapping Language
(4) Standard General Markup Link

Standard General Markup Language

66. 2001 =41 AHHEA TUHTAR AeRer ffka snfeardi=) eshart fhdt gl ?

(1) 60 Zak &y Hl (2) 40 ZTF Qe Ht

(3) 60 eFk 4) 40 =%

What was the literacy rate among tribals of Maharashtra as per 2001 census ?
(1) Less than 60 per cent (2) Less than 40 per cent

(3) 60 per cent (4) 40 per cent

FHeeAT THIATES! ST/ SPACE FOR ROUGH WORK
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67. ‘MAHAGENCO' =T 1 ATHE &R hid! wiecissh R ol Jehed 6 2010 HEA HI3 GE &l
e ?
(1) =S (2) quEe (3) TR (4) ER
Where was the ' MAHAGENCO's 1 Mega Watt Photo Voltaic Solar Energy Project started
in 2010 ? ‘
(1) Koradi (2) Bhusawal (3) Tarapur (4) Chandrapur
68. I feoiean &1 9 =1 HHEYT FHT 96 o=l Y N1 A YU h1d TEURT ?
(1) == g (2) @ A
(3) = yomedt (4) o 9d yafl
What is the web software that locates web pages based on matching key word provided
by the user known as ?
(1) Web engine (2) Search engine
(3) Matching software ' (4) All the above
69. RV YSI VT SHUUTEIS! STIRET ?
1) =™ (2) EwE @) foeam (4) AT THE AR
Which is a “live fencing” species ?
(1) Ghaypat (2) Salvan (3) Pithvan (4) None of these
70. IV TR WEHARIfaeE @0 T’ H1een gl 7

(1) ot gien wew | (2) S sifEe WO
(3) it qomet R (4) S yiHer <eaa

Who had led “Rolling pin procession” (Latne Morcha) in Maharashtra against the Price
hike ?

(1) Smt. Sushila Gokhale (2) Smt. Ahilya Rangnekar

(3) Smt. Mrinal Gore (4) Smt. Pramila Dandavate

AT HIHTETS WM / SPACE FOR ROUGH WORK
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71. TERTSETEN Higel AT S YuReR HIvmT efesTe Fmiv e ?
(1) % H Aa (2) @iTen
(3) eIl @) foerd
Which short film was made by Maharashtra State Commission for Women on female
foeticide 7
(1) Aai me yeteya (2) Baangadya
(3) Nakoshi (4) Bilori
72. ‘wa T anfor @ i el datua e ?
(1) SHHEE avHE g8
(2) A AUgERlE A a5 |
(3) IWHIEH [EwEie Yk TRHTReA TRl e TIHA sed
(4) TEIH TRTHT=AT qUaEld aT9HH a8el
With what are ‘El Nino’ and ‘La Nina’ related ?
(1) Temperature fluctuation on surface of land
(2) Temperature fluctuation in surface water of river
(3) Major temperature fluctuation in surface water of “Tropical Eastern Pacific Ocean’
(4) Temperature fluctuation in surface water of "Arctic Ocean’
73. % feu +H ame ?
(1) foomEgams (2) fostn srefares
() fosmn gafes (4) TUHRT HIUTAE! ATE
How does the diamond behave ? '
(1) Good conductor of electricity (2) Semi conductor of electricity
(3) Bad conductor of electricity (4) None of these
74. 3o g1 U SAORT wedt
(1) % (2) e (3) it (4) wRe
Insulin is a hormone secreted by
(1) Liver (2) Lymph node (3) Spleen (4) Pancreas

THoeAT HIATETE! W / SPACE FOR ROUGH WORK
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75. SR gEmEd faafia gt @ e =1 A Jed! ifgeid.
(1) 1wfe=n (2) 3 HfE (3) 6 mfg=n (4) 19ut
If Panchayat is dissolved, elections are to be held within .
(1) 1 Month (2) 3 Months (3) 6 Months (4) 1 Year
76. WS HEHM TAH HEHA WU 81 STHAM Sl (A B, A ATBRAE HH U 2
(1) SEal died . (2) FHr faEdwm
(3) v W @) wEm SRbED
What is the process of splitting of a heavier nucleus into lighter nuclei with the release of
energy called ?
(1) nuclear fusion (2) nuclear fission
(3) chemical reaction (4) combination reaction
77. Wd GEE Ao ANCATH! SHIHES ST T Tarel 19 WO
(1) R (2) TR
(3) w=rE (4) oY UHE qAd A
What is the system in which all the members marry within their own tribe ?
(1) Monogamy (2) Exogamy
(3) Endogamy (4) None of the above
78. TIEEHTH fashiha=a ST IV X AT el ?
(1) Hez afdd #L (VAT) (2) TG SUEA Yok
(3) Fra foemt # (4) IR
Which tax has replaced Sales Tax in the State ?
(1) Value added tax (VAT) (2) State Excise Duty
(3) The Central Sales Tax (4) Customs Duty
79. '‘THIGiGea HRS ' IAH ISR HIU ?

1) F™ (2) o 3

(3) Hakie o @ (4) gl wd 4R
What is the best example of ecological community ?

(1) Meadow (2) Oak tree

(3) All the people in Mumbai (4) All the fishes on earth

HTT HIATATS! 9T / SPACE FOR ROUGH WORK
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80.

TR ' o A HAHT HeRIET GE H0A AT ?
(1) 1988 (2) 1990 (3) 1992

When was the ‘Joint Forest Management’ programme launched in Maharashtra ?

(1) 1988 (2) 1990 (3) 1992

81.

HERTY 3o AT q&T Eiasial 60 Hiol6HgT wel sid ?

(1) T=FuT™ (2) TFTEH

(3) e ‘ (4) g

Who appoints the Chief Justice of the High Court of Maharashtra ?
(1) The Governor (2) The Prime Minister
(3) The Chief Minister (4) The President

82.

HET TSI ITANT HYT FIAE 2

(1)  snfenas 2) R s
() b AR (4) ST

What is carbon dioxide used for/as ?

(1) fire extinguisher (2) bleaching wool
(3) manufacture of fertilizer (4) disinfectant

83.

2011 =1 ‘' HIfge STHIGH TERR’ HI0TH SR A ?

1) a9 (2) UHEE B

() IHd BEF (4) I HiS

Who was awarded with ‘Sahitya Academy Award’ of 2011 7
(1) Poet Grace (2) Ramdas Phutane
(3) Vasant Dahake (4) Uttam Kamble

84.

‘Gl enfeerdt STHTd IO TSI STeed ?

(1) =g (2) e

(3) STEUIEE Yo 4) e
Where is the ‘Khasi’ tribe found ?

(1) Manipur (2) Meghalaya
(3)  Arunachal Pradesh (4) Bihar

2l ?:ETWR:I'I'& ST / SPACE FOR ROUGH WORK
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85. FUAELLEL (UNCED) 1992 2 %alld ' 3ToIver-21" § F¥mell Hafa smg ?

(1) R fawm (2) et fowm

(3) TSR foew™ (4) sieifre fawm

With what is the ‘Agenda-21" an outcome of UNCED-1992 related to ?
(1) Sustainable development (2) Economic development
(3) Political development (4) Industrial development

86. WiceTyeh! FHIVIET TCUCTSA fHASHE TEHM STHA g A oareR IR Srerfavamy e v

R TE ?

(1) Erwg ) wEEw

(B) A faumE (4) w3 faum fte

Who participate in electing the President but have no role to play in his impeachment ?
(1) Lok Sabha (2) Rajya Sabha /
(3) State Legislative Assemblies (4)  State Legislative Councils

87. T g SAHAIAT Hivred] TN A 3Tt ?

(1) 1985 (2) 1986 (3) 1987 (4) 1988

When did the Ministry of Environment and Forests come into being ?"

(1) 1985 (2) 1986 (3) 1987 (4) 1988
88. TG WHEHA 32 GIUNH! oD BiER AT it STee.

(1) 5 (2) 8 (3) 10 (4) 15

Human inhabitation is found onlyon _____ of the 32 islands of Lakshadweep group

of islands. / :

(1 5 (2) 8 (3) 10 (4) 15
89. ‘& wst'' = W U&7 AT ST

(1) 7.0 2y 5.7 3) 7.5 (4) 8.5

pH value of “Acid Rain” is less than :

(1) 7.0 (2) 5.7 () 75 (4) 8.5

THoeAT SHTHTETS! ST / SPACE FOR ROUGH WORK
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90.

AHVR o TIGNaR TR 3T d fohd! wfafqet freree s ?
(1) 48718 (2) 48719 (3) 499 18 (4) 499 19

How many representatives are elected from Maharashtra for Loksabha and Rajyasabha
respectively ?

(1) 48 and 18 (2) 48 and 19 (3) 49 and 18 (4)- 49 and 19

91.

FHIV T BT TR TSReR Feord o1 2

1) faerE (2) = (3)  3TETHI 4) TR
Which town is located in the ‘Chhota Nagpur’ plateau region ?
(1) Bhilai (2) Ranchi (3) Asansol (4) Durgapur

92.

2011 A AR AT T AT TR el el Wil sRe heet F01 o 2

1) wmat ferm () T HeE

(3) fafem gwm (4) ¥ RY

Who was the first woman to bécome a jawan in Indian Defence Forces in 2011 ?
(1) Shanti Tigga (2) Rani Munda

(3) Miriam Hembram (4) Meena Murmu

93.

HERZTtel ArTas] Ava et fohdl ek & Steifdfea et 2

(1) 75 (2) 64 (3) 74 (4) 84
How much percentage of cultivable land in Maharashtra is not irrigated ?
(1) 75 (2) 64 (3) 74 (4) 84

94.

RBI =1 firg Famet Akt dRum=A eaaTaeTaR (16 fedar 2011) , Fw fgdd Yoi 7 aeran Tt
I e ? |
(1) 6% gfaed (2) 5.5% wfqad (3)  9.5% yfqad (4) 6.1% gfaad

As per RBI's Mid Quarter Monetary Policy Review declared on 16 December 2011 the
Cash Reserve Ratio is maintained at ?

1) 6% PA (2) 5.5% PA (3) 95% PA (4) 6.1% PA

HoAT FMHTE WM / SPACE FOR ROUGH WORK
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95. Hals ~AFTd Yar=a GIETuInag fadt —mneie o ?

(1) 18 (2) 26 (3) 31 (4) 33
How many judges including the Chief Justice of India are there in the Supreme Court ?
(1 18 (2) 26 3) 31 (4) 33

96, daTEHYIE HIGRRE TR FIR 2

(1) 3R ) Tt

(3) I s (4) HiceEm wEe
What is the hazardous content of Tobacco ?

(1) Urea (2) Nicotine

(3) Uric acid (4) Calcium carbonate

97. W@@aﬁﬁmﬁm‘uﬁ’awwﬁ%m?

1) ferw (2) eza (3) i< (4) Tifean
In which of the following districts of Maharashtra ‘Manudevi” waterfall is located ?
(1) Nashik (2) Jalgaon (3) Nanded (4) Gondia

98. TERIKIE QIeedeh! v fahTol gaifies T vl ?

(1) foeaeT (2) T (3)  svisE (4) St
Which of the following places in Maharashtra receives highest rainfall ?
(1) Chikhaldara (2) Tornamal (3) Amboli (4) Gadchiroli

99, TR 3N fereRidiel Hassnera vl enfeardl s sTessd 2
Q) T (2) HIeH (3) &Y (4) FRF

Which Adivasi tribe is found in the ‘Melghat’ region of Amravati district of
Maharashtra ?

(1) Gond (2) Kolam (3) Andh (4) Korku

100.%@1%@@&%%&1@@%%@3{%%@@%%%%?
(1) 11% wfgad ) 9% ufqed (3) 7% wfaed (4) 8% e

What is the targeted economic growth rate in the Eleventh Five Year Plan (2007 - 12)
emphasizing faster and more inclusive growth ?

1) 11%PA () 9% PA 3) 7% PA (4) 8% PA

ol HIEERE ST / SPACE FOR ROUGH WORK
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101.

25 A

Which of the following lengths are the sides of a right angled triangle ?
(1) 4,56 (2) 3,45 3) 569 (4) alloftheaoove

102.

sec 0 x sin (90°—0) + cosec 8 X cos (90°~0)=

1 o @ 1 3) 2 4) 3

103. [ ] PQSN is a trapezium seg. PQ || seg. NS and PQ=8, PN=6v2 . NS=

P 8 Q
$
45° 30°
1) 14 2) 63 (B) 14-6V3 (4) 14+6V3
104. The median marks of 100 students in mathematics are 56. It was afterwards found that
marks of a student were wrongly considered as 76 instead of 67.
The correct median is
(1) 50 (2) 56 (3) 60 4) 76
105. What is the median weight of the workers from the given below weights ?
61 kg, 58 kg, 41 kg, 88 kg, 65 kg, 72 kg, 70 kg.
(1) 70 kg (2) 65kg 3) 72kg (4) 71kg
106. If o < b and ka < kb then k must be :
(1) © (2) greater than 0
(3) less than 0 (4) even
107. The measures of the angles of a triangle are in the ratio5: 6 : 7.

Then the angles of the triangle are

(1) 50° 50° 80° (2) 50°, 60°, 70° (3) 40° 50° 90° (4) 45°, 45°, 90°

HoeAT KM AT / SPACE FOR ROUGH WORK
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108. The variate x has following frequencies.

x 1 2 3 4 5 6
frequency 2 5 9 11 15 8

]

Then what is the mean ?
1) 4 (2) 5 3 412 (4) 512

109. The g.c.d. and Lc.m. of thé bolyndmials x?+2x—3, x3+3x2—x—3 are respectively

1 -1 (x+3), ) )

@) (x-1) (x+3), (x~1) (x+3) (x)
(3) (x+1) (x+3), (x+1) (x+3) (x—1)
@) (x—1) (x—3), (@— 1) (x=3) (x+1)

(x=1) (x+3) (x+1)
(

110. The value of sin 330° is :

1

M -3 @) @ —= @

Nla
[
)
| =

111. In AABC, mZA =70°, m«£B=65° then m/C is :
(1) 55° (2) 45° (3) 50° (4) 90°

112. A cylindrical vessel of radius 8 cm contains water. A solid sphere of radius 6 cmn is lowered
into the water until it is completely immersed. The water level in the vessel will rise by :

(1) 25 cm (2) 3.5cm (3) 45 cm (4) 55 cn

10
113. If sum of a natural number and its reciprocal is 3 then the number n must be :

1) 3 2 10 3) 5 4) 6

A(AABC)

114. If AABC and APQR are similar triangles then ratio of equals to :
A(APQR)
_ AB BC AB? AB?

oAl HIATETS! AT / SPACE FOR ROUGH WORK
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115. What is the volume of the sphere whose surface area is 154 cm? ?

539 4 593 4 39 s 395 s

1 = m (@) 5 m )

116. The curved surface area of a cone is 4070 cm? and its radius is 35 cm. Then what will its
slant height be ? '

(1) 34 cm (2) 35cm (3) 36 cm 4) 37 cm

117. What is a set of instructions to the computer called ?

(1) Mentor (2) Instructor (3) Compiler (4) Program

118. The mean marks obtained by 300 students in the subject of statistics is 45. The mean
marks of the top 100 of them was found to be 70 and the mean of last 100 was known to
be 20. What is the mean of the remaining 100 students.

1) 45 (2) 575 (3) 50 (4) 65

119. A copper sphere of radius 3 cm is beaten and drawn into a wire of diameter 0.2 cm. What
will be the length of the wire ?

(1) 9m 2) 12m 3) 18 m 4) 36 m

120. Whatis the percentage of students getting marks more than 30 from the following frequency
distribution ?

Marks 0-10 10-20 | 20-30 | 30-40 | 40-50
No. of students 12 20 10 13 5
(1) 18% (2) 20% (3) 30% (4) 25%

121. What is the total surface area of a right circular cone of height 14 cm and base radius
7cm?

(1) 344.35 cm? (2) 462 cm? (3) 498.35 cm? (4) None of these

122. The equation of the line passing through the point (—3, 2) and parallel to x axis is :
(1) x+3=0 (2) x-3=0 3) y+2=0 4) y-2=0

TN HIATETS WM / SPACE FOR ROUGH WORK
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123. Study the following bar graph and answer the question given below.

60

—

25

Number of workers —

i

Year — 80-81 81-82 82-83 83-84 84-85

Chart showing number of workers in
thousands in a factory

What is the percentage increase in number of workers from 1982 - 83 to 1984 - 85
around ?

(1) 57 ) 72 (3) 125 4) 135

124. What is the height of the cone if volume of a cone and a sphere are the same for equal base
radius of the cone r and radius of the sphere r ?

P r (2) 2r 3) 3r (4) 4r

125. The centre of the circle with equation x?2+y?—2x—2y—2=01is :
1 @1 2 @2 G (-1 -1 4 21

126. The internal measures of the cuboidal room are, length 12 m, breadth 6 m and height 4 m.
What will be cost of white washing the 4 walls of the room at the rate of ¥ 15 per m? ?

(1) T 2160 @) T 2150 3) T 2140 @) T 2130

127. If sin 6 +sin%0 =1 then cos?0 + cos?6 = .
(1) 1 (2 2 3) 3 4) 4

128. If A={0,2 4,6, 8 10}, B={0,1,2 3,4,5, 6} and C={5,7, 8, 9}, then (AUB)C is :
1) 6.7, 8) @ {5809 @) 789 @ (58

e HIUTATS! ST / SPACE FOR ROUGH WORK
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129, Fill in the blank :

If the angles of a triangle are 45°, 45°, 90°. Then the perpendicular sides are
times the hypotenuse.

1
1 2 ) 3 @ 4 2

1 ; 1
130. If gth of a pencil is black, = of the remaining is white and the remaining 35 times

2
‘portion of black is blue, then the total length of the pencil is : .
(1) 6cm (2) 7cm (3) 8cm (4) 11 cm

131. Theset {0, 2, 4, 6, 8, 10 } can be written as :
(1) {2x]|0<x<5} (2) {x|0<x<5}
(3 {2x|0=sx=<5} (4) None of these

132. If o and B are roots of the equation x2—9x+20=0, find the value of o2+ B2+ap.
(1) 61 (2) -6l 3) 21 4 -21

133. The following Pie-chart shows the percentage of Literate and Illiterate-Males and Females
in a city.  What is the difference between the number of Literate Males and Literate
Females ?

2321

Literate
Males
35%

Hliterate
Males 24%

Total number = 2,50,000.

(1)  7500.0 ) 1500.0 3) 5000.0 4) 500.0

HoeAT HTHTETS! W / SPACE FOR ROUGH WORK
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34. The LCM. of =/ 2, =, = is:
134. elL.CM.of 3, 2/ g/ 57 Is:
O 5 o e 3 @
135. In the fig., seg. AB = seg. AC, seg PB = seg. PC, ZA=40°, ZP=140°. Then
ZACP= .
A
(1) 20° (2) 30° (3) 40° - (4) 50°
136. What least value must be given to * so that the number 451*603 is exactly divisible by 9 ?
1) 2 ) 5 @) 8 4 7
- 137. Two circles have radii 5 and 3. Ratio of their area is :
25 . 5 . 125 .
(1) ? sq. units (2) 5 sq. units (3) —7— sq. units (4) none of these
138. Two circular cylinders of equal volumes have their heights in the ratio 1 : 2, the ratio of
their radii is :
1) 1:42 2 J2:1 (B) 1:4 4) 4:1
139. Two straight lines with slopes m; and m, are parallel if :

1 1

(1) my=—-my (2) m1=——n;2— (3) mp=my, (4) ™=~

THoedl HIUTATS! AFT / SPACE FOR ROUGH WORK
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The angle of elevation of a ladder leaning against a-wall is 60° and the foot of the ladder is

140.
4.6 m away from the wall. The length of the ladder is :
(1) 23 m (2) 46m . 3) 92m (4) 78 m
141. The height of a right circular cyiinder is 14 cm and it’s curved surface area is 704 sq.cm.
then what is its volume ?
(1) 1408 cm3 (2) 2816 cm3 (3) 5632 cm3 (4) 9856 cm?
142. The sum of the interior angles of a polygon is 1440°. How many sides does this polygon
have ?
1y 15 (2) 10 3 20 (4) 25
143. The g.c.d. of 7469 and 2464 is .
(1) 2464 (2) 7469 3 1 4) 77
144. What is the value of tan 6 +cot 6 ?
(1) sin 6 cosec (2) sec 0 cosec 8 (3) cosBsecH (4) sin@cos®
8.6x53+8.6x4.7
145. Find the value of 6x53+8
~ 4.3%9.7-43x87
(1) 139 (2) 3.3 (3) 6.847 4) 20
146. A boy is at a distance of 60 meters from a tree makes an angle of elevation of 60° with the
top of the tree. What is the height of the tree ? (\/_?; = 1.73)
(1) 519 m _ (2) 3468 m (3) 103.80 m (4) 69.36 m
147. 1f A={3,4,56},B=(3,7,9,5}and C={ 10, 12 } then (AnB) L C is equal to :
1) {3,612} (2 {4510,12} @) {3,456,9} @) {3,51012}
148.

In the figure each of the segments PA, QB, RC and SD is perpendicular to line I. If
seg. AB=6, seg. BC=9, seg. CD=12, seg. PS=36 then seg. PQ= .

p Q@ R >
<A B C D —>
1 6 2 7 3) 8 - 4 9

el hIWTEIS! W / SPACE FOR ROUGH WORK
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149. The angle of depression of a coconut to the ground from the top of the coconut tree is 60°.
After moving down 10 feet from the top of the tree the angle of depression became 45°.
What is the distance of the coconut from the tree to the ground ? (\/§ = 1.732)

(1) 23.66 feet (2) 13.66 feet (3) 33.66 feet (4) - 28.66 feet

150. In the AABC given below, line [ is parallel to BC. Then x must be :

A
3 4
6 \
B C
(1) 6 2 4 3 8 (4) 10

151. What is the angle of elevation of the sun, when the length of the shadow of a tree is
/3 times the height of tree ?
1y 30° - (2) 45° (3) 60° (4) 90°

152. In the fig.,, ZBAC=90° seg. AD Lside BC, BD=16, DC=9. Then y=

A
Yy
B 16 D 9 ¢
1 12 2) 13 (3) 14 (4) - 15

153. The values of x for the equation x2+9x+18=6—4x are : .

1 112 @ (-1, -12) @) @ -12) @ (-1,12)

154. The product of two numbers is 1320 and their H.C.F. is 6. The LCM. of the numbers is :
1)y 7920 (2) 1314 (3) 220 (4) 1326

155. The H.C.F. of 108, 288 and 360 is equal to :

1 12 (2) 36 @) 18 @) 9

oo dTATETS! ST / SPACE FOR ROUGH WORK
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156. The quotient and remainder, when x*+3x2+2x2—x+3 is divided by x3+2x2+1 are
‘ respectively .

(1) x+1, -2(x-1) (2) x+1,2(x-1)

3 —-2(x-1), x+1 4 2(x-1), x+1
157. In computer system, BITS is known as :

(1) Binary Integers (2) Binary Digits

(3) Binary Codes (4) Binary Decimals
158. If tan A+ ——=2 then tan? A+—> =

tan tan“A

1 1 2 2 @ 3 4) 4

159. If log,, (logfo] =1thenxis:
10 1

(1) 10 (2) 10 (3) 100 (4) 0
160. A boy standing at a distance of 100 m from a tree, makes an angle of elevation of 30° with

the tree top. What is the height of the tree ?

100 100
— m —(m

0 7 (2) 10043 m ® 5 (4) 10042 m
161. If the roots of the equation 2x2+ 8x —m3=0 are real and equal then the value of m is :

1 -3 2y -1 @) 1 ) -2
162. In the trapezium PQSN, PQ is parallel to NS. The area of [J PQSN is :

P 4cm Q

&
RS
45°
N T_] S
33 33
M 5 em? (2) 33 cm? G o cm? @) 66 cm?

HeeAT SRS S0 / SPACE FOR ROUGH WORK
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163.

34

If x and y leave same remainder when divided by 2 then :
(1) xand y both must be even (2) x+y must be even

(3) «xisevenand y is odd (4) none of the above

LRM

164. Which of the following sets contain 2 as an element ?

@ {2 {202 @ {22} @ {{2}) 4 (1
165. What does the following flow chart mean ?
[T
|
t=x
X=y
y=t
1
[T
(1) Only reading x, y values.
(2) Only writing x, y values.
(3) Reading x, y values, interchanging them and writing values of x, y
(4) Interchanging x, y values.
166. A segment joining any vertex of a triangle to the midpoint of the opposite side is called

as .

(1) altitude (2) median (3) chord - (4)

tangent
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167. The shaded region in the following Venn diagram represents :

A B
(1) AuUB (2) AnB
G) AnB 4 (AnB)U(ANB)
168. The side of a rhombus is 26 meters and length of one of its diagonal is 20 meters. Then
what will be the area of the rhombus ?
(1) 520 m? (2) 260 m? (3) 240 m?2 (4) 280 m?2
169. Which two types of expenses together make 50% of the total expenses from the following
Pie diagram showing different types of expenses in Rs. of a family for a month ?
100
Education
(1) Food and Education (2) Food and Lighting
(3) Clothing and others (4) Clothing and Lighting
170. Find the value of 161* x 16%% x16%% =
(1) 4 2 1 3 2 (4) 16
171. Transformation of input into output is performed by :

(1) Peripherals (2) Memory (3) Storage (4) The CP.U.
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172. In the figure XY || AC and XY divides the triangular region ABC into two equal areas.
Then AX : AB = .

B
X /\ Y
A/ C
1 1:2 2) 1:1 3y J2-1:42 4 J2:42-1

173. For what values of p, the quadratic equation (p+1)x?+ 2(p+3)x + (2p + 3) have equal
roots ?

(1) 3or -2 (2) -3or2 (3 —3or -2 (4) 3or2

174. The difference of mean and mode of the following values
1,582,573, 9is: '
1y 2 2) 1 G 0 (4) 3

175. What is the base area of a cone whose volume is 924 cm? and height is 18 cm ?

(1) 145 cm? (2) 164 cm? (3) 154 cm? (4) 146 cm?

176. Out of 100 students; 15 students failed in English, 12 in Maths, 8 in Science; 6 in English
and Maths, 7 in Maths and Science, 4 in English and Science and 4 in all three, Find how
many failed in Maths only :

1 3 (2) 2 3) 4 4) 9

177. Which of the following statements is false ?

(1) Every surd is an irrational number.
(2) The sum of two rational numbers is a rational number.
(3) The sum of two irrational numbers is irrational.
(4) Every irrational number is a real number.
178. The value of 21->< 3 + Z—:— 20 is equal to :
10 10
2) 1 3) 100 4 17
1) o 2) (3) @ 50
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179.

\/seczﬂ + cosec? =

(1) tan 8xcot ® (2) tan20 X cot?0 (3) tan?+cot?8 (4) tan 6+cot 6

180.

The remainder when x*+ 16x3 +17x2+ 64x — 100 is divided by x—-1 is
(You may use remainder theorem)
1) 2 @) 0 (@) -2 4) 10

181.

The number 110110110 is divisible by :
(1) 2,3 5and11 (2) 2,5and 9 (3) 3,4and 9 (4) 4,59and 11

182.

A snake on the ground saw a bird on the top of the tower at an angle of elevation 30°. -
Both started moving with the same speed and snake was attacked by the bird after moving

a distance of 20 meters towards the foot of the tower. At what distance was the snake
from the bottom of the tower initially ?

(1) 20 meters (2) 30 meters (3) 40 meters (4) 50 meters

183.

How much amount of water can be stored in a cylindrical tank 14 meters in height and
12 meters in diameter ?

(1) 1582.56 meter3 (2) 1528.56 meter3
(3) 1285.56 meter3 (4) 1258.56 meter?

184.

If \/27 =64 then the value of n is:
(1) 2 (2) 4 (3) 6 4) 12

185.

Using Ogive curves, what can be obtained easily ?
(1) Mode (2) Mean
(3) Mean and Mode (4) Median

186.

The captain of a ship saw the top of the tower at an angle of elevation 63°. After moving
a distance of 20 meters towards tower, the angle of elevation became 73°. What is the
height of the tower ? '

(tan 63°=1.96, tan 73°=3.27)
(1) 97.85 meters (2)  29.92 meters (3)  39.92 meters (4) 87.85 meters

187.

The radius of the circle with equation x2+y2+4x—6y+5=0 is :
1) J5cm (2) Scm B) 2J2cem 4) 2V3cm

A 43y S B 8L
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188. The equation k%x2—2(k—1)x+4 =0 has real and equal roots, then k is :

(1) 1lor —_31 (2) -lor % (3) -—lor —% (4) 1lor %

1
189. 5 of (74+7%x7—-7=+7 )=

: 7

m 7 @ o @ 1 @ 3
190. For any natural number n, n(n+1)(n+2) is divisible by :

(1) 2butnotby3 (2) 3butnotby2 (3) neither2nor3 (4) 2and3
191. What is the cost of making a copper ball of 10 cms diameter if 1 square cm copper sheet

costs T 25 ? ‘

(1) X 6850 (2) X 7850 (3) X 8850 (4) T 9850
192. The recurring decimal 1.7 has value equal to o

1 7 2 16 3) 1.77 4 7

n 5 @ 5 ®) 1 @ 1
193. Find the possible values of sin x, if 8 sin x —cos x=4

n 3,32 y 2,3 5 L 2 gy =L 22

W 51 @ 313 ®) 5713 @ 513
194. What is the value of sin®6 + ———1—2 ?

1+tan“0
1

1) 0 2 1 G 3 @ 3

195.

The shaded region in the following figure is represented by the set

(2) AABAC (3) (AnB)uC (4) (AuUB)NC
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196. If set A has 32 elements, set B has 42 elements and set A\B has 62 elements then the
number of elements in the set AnB is :
1y 74 (2) 62 3) 12 (4) 45
197. If a solid sphere of radius 10 cm is moulded into 8 spherical solid balls of equal radius then
the radius of each such ball is :
(1) 5cm (2) 25cm (3) 125 cm (4) 375 cm
198. A computer program consists of
(1) A completed flowchart
(2) Algorithms
(3) Algorithms written in computer’s language
(4) Discrete logical steps
199. A cone and a sphere have equal radii and equal volumes. The ratio of the radius of the
sphere to the height of the cone will be :
(1) 1:4 (2) 1:06 3) 1:8 4) 1:2
200. The number of lead balls, each 1 cm in diameter that can be made from a sphere of radius
6 cm is )
(1) 1278 (2) 1728 (3) 2178 (4) 7218
-00o0-
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